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http://www.karlin.mff.cuni.cz/∼kuncova/, kytaristka@gmail.com

Př́ıklady

1.

∫ 1

0

lnx

1− x
dx

2. Ověřte spojitost F (a) =

∫ 1

0
sgn(x− a) dx

3. F (a) =

∫ ∞
0

e−x
2

cos 2axdx

Vzorová ṕısemka

4. Rozviňte v řadu integrál∫ ∞
0

cosx ln(1 + e−x) dx.

5. Spočtěte integrál

F (a) =

∫ ∞
0

ln(1 + ax2)

x2(1 + x2)
dx.

6. Spočtěte mı́ru mny M =
{

[x, y, z] ∈ R3 : z
√
x2 + y2 < 2,

√
x2 + y2 < z + 1, z > 0

}
7. Spočtěte

lim
n→∞

n

∫ ∞
0

(
1 +

x

n

)−n
sin

x

n
dx.

8. Spočtěte integrál

F (a) =

∫ ∞
0

1− e−a
2x2

x2
dx.

9. Spočtěte integrál ∫
M

x dxdy dz

x2 + y2
,

kde M =
{

[x, y, z] ∈ R3 : 0 < xz < x2 + y2 < 1, z > 0
}
.
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